
Q.1 A + B का अथŊ है िक ‘A , B के िपता हœ’
A – B का अथŊ है िक ‘A , B की माता है’
A % B का अथŊ है िक ‘A , B का भाई है’
A # B का अथŊ है िक ‘A , B की पुũी है’
यिद P + Q % R % S # T – U है, तो Q का U से Ɛा संबंध है?

Ans 1. िपता

2. पुũ

3. साला

4. भाई

Question ID : 26433059906

Status : Not Answered

Chosen Option : --

Q.2

Ans 1. 6 और 8

2. 20 और 8

3. 7 और 2

4. 2 और 8

Question ID : 26433069212

Status : Answered

Chosen Option : 1
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Q.3

Ans

1. 

2. 

3. 

4. 

Question ID : 26433068973

Status : Answered

Chosen Option : 1

Q.4 यिद A ÷ B का अथŊ है िक A, B का भाई है, A × B का अथŊ है िक A, B की बहन है, A – B का अथŊ है
िक A, B का िपता है, तो िनɻिलİखत मŐ से कौन सा ʩंजक यह िनŝिपत करता है, िक P, R का
चाचा/फूफा/ताऊ है?

Ans 1. P ÷ R × Q

2. P – R ÷ Q

3. P × R – Q

4. P ÷ R – Q

Question ID : 264330105008

Status : Not Answered

Chosen Option : --

Q.5 उस िवकʙका चयन करŐ जो पांचवी ं संƥा से उसी Ůकार संबंिधत है िजस Ůकार दूसरी संƥा पहली
संƥा से संबंिधत है और चौथी संƥा तीसरी संƥा से संबंिधत है।
7 : 25 :: 4 : 4 :: 3 : ?

Ans 1. 1

2. 5

3. 4

4. 7

Question ID : 26433067654

Status : Answered

Chosen Option : 1



Q.6 उस समुǄय का चयन कीिजए िजसमŐ संƥाएं आपस मŐ उसी Ůकार संबंिधत हœ िजस Ůकार िनɻिलİखत
समुǄयों की संƥाएं आपस मŐ संबंिधत हœ।
(नोट: संƥाओं को उसके घटक अंकों मŐ िवभािजत िकए िबना, पूणŊ संƥाओं पर गिणतीय संिŢयाएं की
जानी चािहए। उदाहरण के िलए 13 - गिणतीय संिŢयाएं जैसे िक जोड़ना/घटाना/गुणा करना इ̝यािद 13
मŐ िकया जा सकता है। 13 को 1 और 3 मŐ िवभािजत करना और िफर 1 और 3 पर गिणतीय संिŢयाएं
करने की अनुमित नही ं है।)
(70, 14, 56)
(88, 30, 58)

Ans 1. (59, 36, 25)

2. (38, 16, 24)

3. (44, 24, 23)

4. (52, 19, 33)

Question ID : 26433070240

Status :
Not Attempted and
Marked For Review

Chosen Option : --

Q.7 दी गई दो संƥाओं तथा दो िच˥ो ं को आपस मŐ पर˙र बदलने के पʮात् Ţमशः समीकरण (I) तथा (II)
के मान Ɛा होगें?
– तथा ×, 6 तथा 4
I. 7 × 6 + 8 ÷ 2 – 4
II. 4 – 7 × 6 + 8 ÷ 2

Ans 1. 27, 47

2. 25, 40

3. 27, 42

4. 27, 49

Question ID : 264330105156

Status : Marked For Review

Chosen Option : 2

Q.8 नीचे िदए गए Ůʲ मŐ कुछ कथनऔर उनके बाद उन कथनो ं पर आधाįरत कुछ िनʺषŊ िदए गए हœ। िदए
गए कथनो ं को सही मानŐ, भले ही उनमŐ सामाɊतः ǒात तȚों से िभɄता हो। सभी िनʺषŊ पढ़Ő और िफर
िनधाŊįरत करŐ िक कौन से िनʺषŊ, िदए गए कथनो ं का तािकŊ क ŝप से अनुसरण करते हœ।
कथन:
I. कुछ F, D हœ।
II. कोई A, D नही ं है।
िनʺषŊ:
I. कुछ F, A हœ।
II. कोई D, A नही ं है।
III. कुछ F, A नही ं हœ।

Ans 1. दोनों िनʺषŊ II तथा III अनुसरण करते हœ

2. कोई भी िनʺषŊ अनुसरण नही ं करता है

3. केवल िनʺषŊ I अनुसरण करता है

4. केवल िनʺषŊ III अनुसरण करता है

Question ID : 264330104929

Status : Answered

Chosen Option : 1



Q.9

Ans

1. 

2. 

3. 

4. 

Question ID : 26433070436

Status : Answered

Chosen Option : 3



Q.10 उस िवकʙका चयन कीिजए जो िदए गए शɨों के उस सही Ţम को िनŝिपत करता है िजस Ţम मŐ वे
अंŤेजी शɨकोश मŐ आते हœ।
1- Sennet
2- Sennight
3- Sennit
4- Seniority
5- Senna

Ans 1. 4, 5, 1, 2, 3

2. 4, 5, 2, 1, 3

3. 5, 4, 2, 1, 3

4. 4, 5, 1, 3, 2

Question ID : 26433079449

Status : Answered

Chosen Option : 1

Q.11 एक िनिʮत कूट भाषा मŐ, 'INBOX' को 'MRYCL' के ŝप मŐ िलखा जाता है और 'EMAIL' को 'NVZOR'
के ŝप मŐ िलखा जाता है। उसी भाषा मŐ 'DRAFT' को कैसे िलखा जाएगा?

Ans 1. WIZGU

2. IWGZU

3. IWZGU

4. UGZWI

Question ID : 26433067340

Status : Answered

Chosen Option : 3

Q.12

Ans 1. 1

2. 3

3. 2

4. 6

Question ID : 26433069435

Status : Answered

Chosen Option : 4



Q.13 उस िवकʙका चयन करŐ जो पांचवŐ अƗर-समूह से उसी Ůकार संबंिधत है िजस Ůकार दूसरा अƗर-
समूह पहले अƗर-समूह से संबंिधत है और चौथा अƗर-समूह तीसरे अƗर-समूह से संबंिधत है।
GAIN : HBKP :: ACHE : BDJG :: CAKE : ?

Ans 1. DBMG

2. DBMH

3. DBNG

4. DBNH

Question ID : 26433068515

Status : Answered

Chosen Option : 1

Q.14 उस िवकʙका चयन करŐ जो तीसरी संƥा से उसी Ůकार संबंिधत है िजस Ůकार दूसरी संƥा पहली
संƥा से संबंिधत है और छठी संƥा पांचवी ं संƥा से संबंिधत है।
8 : 128 :: 6 : ? :: 11 : 242

Ans 1. 72

2. 70

3. 64

4. 68

Question ID : 26433067901

Status : Answered

Chosen Option : 1

Q.15 िदये गये कथनो ंऔर िनʺषŘ को ȯानपूवŊक पढ़Ő। यह मानते Šए िक कथनो ं मŐ दी गयी जानकारी सही है,
भले ही वह सामाɊ ŝप से ǒात तȚों से िभɄ Ůतीत होती हो, िनणŊय करŐ िक िदए गए िन̽कषŘ मŐ से
कौन-सा/से िनʺषŊ कथन(नो)ं का तािकŊ क ŝप से अनुसरण करता/करते है/हœ।
कथन:
कुछ पोत कप हœ।
कोई कप ːूल नही ं है।
सभी İखड़िकयां कप हœ।
िनʺषŊ:
I. कुछ पोतो ं के İखड़िकयां होने की संभावना है।
II. कोई İखड़की ːूल नही ं है।
III. सभी कप İखड़िकयां हœ।
IV. कोई पोत ːूल नही ं है।

Ans 1. केवल िनʺषŊ II और III अनुसरण करते हœ

2. केवल िनʺषŊ I, II और IV अनुसरण करते हœ

3. केवल िनʺषŊ I अनुसरण करता है

4. केवल िनʺषŊ I और II अनुसरण करते हœ

Question ID : 26433070351

Status : Answered

Chosen Option : 4

Q.16 िनɻिलİखत Ůʲ मŐ दी गई ŵंृखला मŐ से लुɑ अंक ǒात कीिजए।
41, 54, 67, 80, 93, ?

Ans 1. 106

2. 105

3. 110

4. 108

Question ID : 264330105024

Status : Answered

Chosen Option : 1



Q.17

Ans
1. 

2. 

3. 

4. 

Question ID : 26433067823

Status : Answered

Chosen Option : 2

Q.18

Ans 1. MINL

2. INJM

3. ILNM

4. INLM

Question ID : 26433085328

Status : Answered

Chosen Option : 4

Q.19 उस िवकʙका चयन करŐ , जो तीसरे शɨ से उसी Ůकार संबंिधत है, िजस Ůकार दूसरा शɨ पहले शɨ
से संबंिधत है।
(शɨों को अथŊपूणŊ अँŤेजी/िहंदी शɨों के ŝप मŐ माना जाना चािहए और इɎŐ शɨ मŐ अƗरो ं की संƥा /
ʩंजनो ं की संƥा / ˢरों की संƥा के आधार पर एक दूसरे से संबȠ नही ं िकया जाना चािहए।)
िफʝ : डायरेƃर :: आकő Ōːा : ?

Ans 1. नतŊक

2. कंडƃर

3. ŵोता/दशŊक

4. कोįरयोŤाफर

Question ID : 26433056808

Status : Answered

Chosen Option : 4



Q.20 िदए गए दो िच˥ो ं तथा संƥाओं को पर˙र बदलने पर, िनɻिलİखत मŐ से कौन सा समीकरण सही नही ं
होगा?
× तथा ÷, 2 तथा 6
I. 7 – 4 × 3 ÷ 6 + 2 = 8
II. 6 – 8 × 2 + 9 ÷ 3 = 5

Ans 1. केवल II

2. केवल I

3. I तथा II दोनों

4. ना ही I ना ही II

Question ID : 264330105148

Status : Marked For Review

Chosen Option : 4

Q.21 एक िनिʮत कूट भाषा मŐ, 'CHILDREN' को 'FKLOGUHQ' िलखा जाता है और 'SCHOOL' को
'VFKRRO' िलखा जाता है, उसी भाषा मŐ 'CLASSROOM' को कैसे िलखा जाएगा?

Ans 1. EMCTTURRP

2. FODVVURRP

3. EMCTTTQQO

4. FOEWWURRP

Question ID : 26433067767

Status : Answered

Chosen Option : 2

Q.22

Ans

1. 

2. 

3. 

4. 

Question ID : 26433080509

Status : Answered

Chosen Option : 2



Q.23 िवक̵पो ं मŐ िदया गया कौन सा अƗर-समूह िनɻिलİखत Şंखला मŐ Ůʲिच˥ (?) के ̾थान पर आकर
Şंखला को पूणŊ करेगा?
LE, OJ, UO, DT, ?

Ans 1. PY

2. PZ

3. PX

4. QY

Question ID : 26433067274

Status : Answered

Chosen Option : 1

Q.24 िनɻिलİखत चार अƗर-समूहो ं मŐ से तीन एक िनिʮत तरीके से आपस मŐ संगत है, जबिक कोई एक उनसे
असंगत है। असंगत अƗर-समूह का चयन करŐ।

Ans 1. TQR

2. IFG

3. MJK

4. NKI

Question ID : 26433069013

Status : Answered

Chosen Option : 4

Q.25 नीचे िदए गए Ůʲ मŐ, चार संƥा युƵ िदए गए हœ। Ůȑेक युƵ मŐ (–) के बायी ंओर दी गई संƥा (–) के
दायी ंओर दी गई संƥा से िकसी तकŊ /िनयम/संबंध से संबंिधत है। तीन युƵ उसी एक तकŊ /िनयम/संबंध
के आधार पर समान हœ। िदए गए िवकʙों मŐ से िवषम को चुिनए।(ȯान दŐ: संƥाओं को उनके संघटक
अंकों मŐ िवभािजत िकए िबना, पूणŊ संƥाओं पर संिŢयाएँ िन˃ािदत की जानी चािहए। उदाहरण "13" -
13 पर संिŢयाएँ जैसे िक 13 मŐ जोड़ना/घटाना/गुणा करना आिद िकया जा सकता है। 13 को 1 और 3 मŐ
तोड़ना और और िफर 1 और 3 पर गिणतीय संिŢयाएँ करने की अनुमित नही ं है)

Ans 1. 13 – 25

2. 15 – 27

3. 17 – 31

4. 9 – 15

Question ID : 264330105063

Status : Answered

Chosen Option : 1

Q.1 िनɻिलİखत मŐ से िकस वषŊ भारतीय रा Ō̓ ीय कांŤेस का िवभाजन नरम दलऔर गरम दल मŐ Šआ था?
Ans 1. 1899 मŐ

2. 1907 मŐ

3. 1904 मŐ

4. 1895 मŐ

Question ID : 26433089146

Status : Answered

Chosen Option : 2

Section : General Awareness



Q.2 िकस शहर को 'भारत का मैनचेːर' कहा जाता है?

Ans 1. अहमदाबाद

2. िवशाखापǥनम

3. हैदराबाद

4. लुिधयाना

Question ID : 264330105617

Status :
Not Attempted and
Marked For Review

Chosen Option : --

Q.3 सावŊजिनक संपिȅ की रƗा करना और िहंसा को ȑागना भारतीय संिवधान मŐ एक _________ है।
Ans 1. राǛ के नीित िनदőशक िसȠांत

2. मौिलक अिधकार

3. मौिलक कतŊʩ

4. सामािजक नैितकता

Question ID : 26433086784

Status : Answered

Chosen Option : 3

Q.4 2001 की जनगणना के अनुसार, िलंगानुपात Ůित 1000 पुŜषो ं पर ______ मिहलाएं हœ।
Ans 1. 913

2. 933

3. 923

4. 943

Question ID : 264330105528

Status : Answered

Chosen Option : 4

Q.5 िŰिटश संसद ने ________ मŐ ईː इंिडया कंपनी की शİƅयो ं को िŰिटश साŲाǛ के हाथ मŐ सौपं िदया
।

Ans 1. 1858

2. 1854

3. 1860

4. 1856

Question ID : 264330105575

Status : Not Answered

Chosen Option : --

Q.6 सभी ए.आई.बी.ए. (AIBA) मुſेबाजी Ůितयोिगताओं मŐ, Ůȑेक राउंड के बीच का िवŵाम समय
________ िमनट होता है।

Ans 1.  2

2.  1

3.  5

4.  3

Question ID : 26433059433

Status : Not Answered

Chosen Option : --



Q.7 िकस काबŊिनक यौिगक की संरचना R−COOH है, िजसमŐ R एʋाइल, एʋेनाइल, एįरल या अɊ समूह
को संदिभŊत करता है?

Ans 1. काबŖİƛिलक अʅ

2. कीटोन

3. एİʒहाइड

4. एːर

Question ID : 26433092182

Status : Not Answered

Chosen Option : --

Q.8 ˢतंũता िदवस पर भारत के Ůधान मंũी Ȫारा 'Ȱजारोहण' समारोह िदʟी मŐ िनɻिलİखत मŐ से िकस
̾थान पर आयोिजत िकया जाता है?

Ans 1. रा Ō̓ पित भवन

2. संसद भवन

3. पुराना िकला

4. लाल िकला

Question ID : 26433071487

Status : Answered

Chosen Option : 2

Q.9 ŜİƏणी देवी अŜंडेल िनɻिलİखत मŐ से िकस भारतीय शा˓ीय नृȑ शैली की Ůितपादक हœ?
Ans 1. भरतनाǨम

2. सũीया

3. मिणपुरी

4. ओिडसी

Question ID : 26433064653

Status : Not Answered

Chosen Option : --

Q.10 ऐहोल का दुगाŊ मंिदर, लगभग ______ वषŊ पूवŊ बनाया गया था।
Ans 1. 2000

2. 1700

3. 1100

4. 1400

Question ID : 264330105204

Status : Not Answered

Chosen Option : --

Q.11 समिʼ अथŊशा˓ (मैŢो इकोनॉिमƛ) के अȯयन का िवषय िकस िसȠांत पर आधाįरत है?

Ans 1. उपभोƅा का िसȠांत

2. उȋादक का िसȠांत

3. रा Ō̓ ीय आय का िसȠांत

4. िनवेश का िसȠांत

Question ID : 26433065430

Status : Not Answered

Chosen Option : --



Q.12 फोटोŤाफी मŐ िनɻ मŐ से िकसका Ůयोग िकया जाता है?

Ans 1. सोिडयम थायोसʚेट

2. सोिडयम बाईकाबŖनेट

3. सोिडयम हाइडŌ ॉƛाइड

4. सोिडयम स̵फ़ेट

Question ID : 26433066465

Status : Answered

Chosen Option : 1

Q.13 बृहत् संिहता के अनुसार सŐट, माउथ परɡूमऔर बाथ पाउडर बनाने की ŮिŢया को Ɛा कहते हœ?
Ans 1. जातुका

2. पǥांग

3. का̱ɘिसका

4. गंधायुİƑ

Question ID : 26433086754

Status : Not Answered

Chosen Option : --

Q.14 देश के दूसरे चीफ ऑफ िडफŐ स ːाफ (सी.डी.एस.) के ŝप मŐ िकसे िनयुƅ िकया गया है?

Ans 1. आर िदनेश

2. संजय अŤवाल

3. मनोज कुमार

4. अिनल चौहान

Question ID : 264330105252

Status : Answered

Chosen Option : 3

Q.15 आवतŊ सारणी के दािहनी ओर एक ऊȰाŊधर ˑंभ मŐ अधातु तȇों को िकस समूह मŐ रखा गया है?

Ans 1. समूह 2

2. समूह 1

3. समूह 3

4. समूह 17

Question ID : 26433089686

Status : Not Answered

Chosen Option : --

Q.16 भारत के संिवधान का कौन सा अनुǅेद रा Ō̓ पित को िविशʼ ŵेिणयो ं के मामलो ं मŐ उ̓चतम Ɋायालय की
राय लेने के िलए अिधकृत करता है?

Ans 1. अनुǅेद 143

2. अनुǅेद 142

3. अनुǅेद 144

4. अनुǅेद 145

Question ID : 26433064721

Status : Answered

Chosen Option : 1



Q.17 मेवे, वन˙ित तेल और मछली िनɻ मŐ से िकसके अǅे ŷोत हœ?
Ans 1. ˢ̾थ वसा

2. Ůोटीन

3. काबŖहाइडŌ ेट

4. खिनज

Question ID : 26433071440

Status : Answered

Chosen Option : 1

Q.18 िनɻिलİखत कंटेɼररी ːाइल नतŊको/ं नृȑांगनाओं मŐ से डांस वेब (WEB) यूरोप छाũवृिȅ Ůाɑ करने
वाले पहले भारतीय नतŊक/ नृȑांगना कौन थे, िजɎोनŐ िफʝ 'लगान' मŐ अपने कायŊ के िलए 2002 का
अमेįरकी कोįरयोŤाफी पुरˋार भी जीता था?

Ans 1. एशले लोबो

2. पिȧनी चेट्टूर

3. टेरŐस लुईस

4. शİƅ मोहन

Question ID : 26433074837

Status : Not Answered

Chosen Option : --

Q.19 िनɻिलİखत मŐ से िकस शासक ने दो माली लǯा और पीरा को उǄ Ůशासिनक पद पर िनयुƅ िकया?
Ans 1. मुहʃद तुगलक

2. İखŧ खान

3. बहलोल लोदी

4. इʔुतिमश

Question ID : 264330105427

Status : Not Answered

Chosen Option : --

Q.20 एक भारतीय संगीतकार के सʃान मŐ, अमेįरकी राǛ मैसाचुसेट्स (Massachusetts) ने 1984 मŐ 20
अŮैल को __________ के ŝप मŐ घोिषत िकया था।

Ans 1. अमजद अली खान िदवस

2. शरण रानी बैकलीवाल िदवस

3. अलाउȞीन खान िदवस

4. सखावत Šसैन िदवस

Question ID : 26433071496

Status : Not Answered

Chosen Option : --

Q.21 िपवोिटंग िनɻिलİखत मŐ से िकस खेल से संबंिधत है?

Ans 1. बाˋेटबॉल

2. वालीबॉल

3. हॉकी

4. बैडिमंटन

Question ID : 26433059426

Status : Not Answered

Chosen Option : --



Q.22 कŐ ūीय िवʷिवȨालय (संशोधन) िवधेयक, 2022 को ________ मŐ लोकसभा मŐ पाįरत िकया गया था।
Ans 1. अगˑ

2. िसतंबर

3. जुलाई

4. नवंबर

Question ID : 264330105245

Status : Not Answered

Chosen Option : --

Q.23 पृțी की Ţोड मुƥत: ______ से बनी है।
Ans 1. िनकल एवं मैưीिशयम

2. िनकल एवं तांबे

3. िनकल एवं लोहे

4. िनकल एवं ऐलुिमना

Question ID : 264330105640

Status : Answered

Chosen Option : 3

Q.24 _________ measures the aggregate production of final goods and services taking
place within the domestic economy during a year.

Ans 1. Gross domestic product

2. National income at factor price

3. Gross National income

4. Net national product

Question ID : 264330105360

Status : Answered

Chosen Option : 1

Q.25 माचŊ 2022 मŐ नए रा Ō̓ ीय ई-गवनŒस िडवीजन के सी. ई. ओ. के ŝप मŐ िकसे िनयुƅ िकया गया है?

Ans 1. अिभषेक िसंह

2. राजीव कुमार

3. टीएस रामकृˁन

4. िनितन चुघ

Question ID : 264330105334

Status : Not Answered

Chosen Option : --

Section : Quantitative Aptitude



Q.1 R चलने की चाल की तुलना मŐ दोगुनी चाल से जॉिगंग करता है और जॉिगंग की तुलना मŐ दोगुनी चाल से
दौड़ता है। अपने घर से ऑिफस तक वहआधी दूरी चलकर तय करता है और शेष जॉिगंग करके। वह
अपने ऑिफस से घर आते समयआधी दूरी जॉिगंग करके और शेष दूरी दौड़कर तय करता है। घर से
ऑिफस तकऔरऑिफस से वापस घर आने तक के पूणŊ च̋कर मŐ उसकी औसत चाल (km/h मŐ)
िकतनी है, अगर उसके कायाŊलय और घर के बीच की दूरी 10 km है और वह 5 km/h की चाल से चलता
है?

Ans
1. 

2. 

3. 

4. 

Question ID : 26433071245

Status : Not Answered

Chosen Option : --

Q.2 िũभुज ABC मŐ AD कोण A का कोण समिȪभाजक है। यिद AB = 8.4 cm और AC = 5.6 cm और DC
= 2.8 cm है, तो भुजा BC की लंबाई _______होगी।

Ans 1.  2.8 cm

2. 5.6 cm

3.  4.2 cm

4.  7 cm

Question ID : 26433075899

Status : Answered

Chosen Option : 4

Q.3 एक घन की भुजा की लंबाई 5.6 से.मी. है। घन से बाहर िनकाले जा सकने वाले सबसे बड़े गोले का
आयतनƐा है?

Ans 1. 91.98 से.मी.3

2. 96.98 से.मी.3

3. 90.69 से.मी.3

4. 99.96 से.मी.3

Question ID : 264330105884

Status :
Not Attempted and
Marked For Review

Chosen Option : --

Q.4 5250 Ŝपये की एक रािश 11 Ůितशत ŮितवषŊ की दर से िकतने समय मŐ साधारण ɯाज पर 9870 Ŝपये
हो जायेगी?

Ans 1. 12 वषŊ

2. 15 वषŊ

3. 8 वषŊ

4. 14 वषŊ

Question ID : 264330105672

Status : Answered

Chosen Option : 3



Q.5 एक होटल 2 या अिधक कमरो ं की बुिकंग पर 12% की छूट दे रहा है। इसके अलावा, होटल केवल
एसबीआई के िकसी भी काडŊ का उपयोग करके भुगतान करने पर 5% की छूट दे रहा है। राकेश ने
होटल मŐ एक िदन के िलए Rs.1,500 Ůित कमरा Ůित िदन की दर से 2 कमरे बुक िकए। चेकआउट
करते समय उसने एसबीआई िसʢर काडŊ से िबल का भुगतान िकया। उसे िकतनी रािश का भुगतान
करना पड़ा?

Ans 1. Rs.2,618

2. Rs.1,254

3. Rs.2,508

4. Rs.2,498

Question ID : 26433075065

Status : Answered

Chosen Option : 3

Q.6 राम ने एक ɘॉट को 20% हािन पर Rs.4,00,000 मŐ बेचा। 5% लाभ Ůाɑ करने के िलए उसे ɘॉट को
िकस कीमत पर बेचना चािहए?

Ans 1. Rs.5,25,000 

2. Rs.5,00,000 

3. Rs.5,20,000 

4. Rs.5,05,000 

Question ID : 26433063469

Status : Answered

Chosen Option : 1

Q.7 एक पुिलसकमŎ ने एक चोर को 450 m की दूरी से देखा। पुिलसकमŎ ने उसका पीछा करना शुŝ िकया
तो चोर भी भागने लगा। चोर की चाल और पुिलसकमŎ की चाल का अनुपात 7 : 8 है। िकतनी दूर (km
मŐ) दौड़ने के बाद पुिलसकमŎ चोर को पकड़ सकता है?

Ans 1. 3.15

2. 3.4

3. 3.6

4. 3.75

Question ID : 26433075200

Status : Answered

Chosen Option : 3



Q.8

Ans 1. 5

2. 6

3. 3

4. 4

Question ID : 26433082752

Status : Answered

Chosen Option : 4

Q.9

Ans 1. 217 : 373

2. 353 : 217

3. 373 : 217

4. 217 : 353

Question ID : 26433083055

Status : Answered

Chosen Option : 1



Q.10

Ans 1. 30

2. 40

3. 45

4. 35

Question ID : 26433082421

Status : Answered

Chosen Option : 1

Q.11

Ans
1. 

2. 

3. 

4. 

Question ID : 26433065322

Status : Answered

Chosen Option : 2

Q.12 दो संƥाओ ं110 और 1980 का मह̝तम समापवतŊक (HCF) ̋या है?

Ans 1. 120

2. 110

3. 180

4. 140

Question ID : 26433079816

Status : Answered

Chosen Option : 2



Q.13 (x + 2y)3 + (x - 2y)3 का सरलीकृत ŝपƐा होगा?
Ans 1. 

2. 

3. 

4. 

Question ID : 26433076343

Status : Answered

Chosen Option : 4

Q.14 िũभुज ABC मŐ, कोण BAC का समिȪभाजक भुजा BC को D पर काटता है। यिद AB = 10 सेमी, और
AC = 14 सेमी है, तो BD : BC Ɛा है?

Ans 1. 7 : 5

2. 5 : 2

3. 5 : 7

4. 5 : 3

Question ID : 264330105815

Status : Answered

Chosen Option : 3

Q.15

यिद है, तो का मान Ɛा है?

Ans 1. 9

2. 18

3. 54

4. 4.5

Question ID : 264330105955

Status : Answered

Chosen Option : 2

Q.16 एक गोले का वŢपृʿीय Ɨेũफल 154 cm2 है। गोले का आयतन (दशमलव के बाद एक अंक तक
पूणाōिकत) ǒात कीिजए।

Ans 1. 161.1 cm3

2. 147.8 cm3

3. 156.9 cm3

4. 179.7 cm3

Question ID : 26433063969

Status : Answered

Chosen Option : 4



Q.17

Ans 1. 12(√3+2)

2. 8(√3+2)

3. 8(√3-2)

4. 12(√3-2)

Question ID : 26433063824

Status : Answered

Chosen Option : 2

Q.18

Ans 1. 

2. 

3. 

4. 

Question ID : 26433075305

Status : Answered

Chosen Option : 3

Q.19 नुमन 4/5 समय मŐ गगन से आधा काम करता है। यिद वे एक साथ एक कायŊ को पूरा करने मŐ 16 िदन
लेते हœ, तो गगन को उस कायŊ को पूरा करने मŐ िकतना समय लगेगा?

Ans 1. 25 िदन

2. 23 िदन

3. 26 िदन

4. 24 िदन

Question ID : 26433075123

Status : Answered

Chosen Option : 3

Q.20 p और q के शूɊेतर मानो ं का िनɻिलİखत मŐ से कौन-सा युƵ 6 अंको ं की संƥा 674pq0 को 3 और 11
दोनो ं से िवभाǛ बनाता है?

Ans 1. p = 5 और q = 4

2. p = 4 और q = 2

3. p = 2 और q = 2

4. p = 5 और q = 2

Question ID : 26433074978

Status : Answered

Chosen Option : 4



Q.21 उभयिन̽ठ ˙शŊ रेखाओं की संƥा ǒात कीिजए, यिद r1 + r2 = C1C2 (सामाɊ नोटेशन के साथ, r1

और r2 और C1 और C2 दो वृȅो ं की िũǛा और कŐ ū हœ।)
Ans 1. 0

2. 3

3. 1

4. 4

Question ID : 26433074351

Status : Answered

Chosen Option : 2

Q.22 नीचे दी गई तािलका पाँच कंपिनयो Ȫारा बाइकऔर टŌक के उȋादन को दशाŊती है।

कंपनी H तथा I Ȫारा िमलकर टŌक के उȋादन का कंपनी J तथा K Ȫारा िमलकर बाइक के उȋादन से
अनुपात Ɛा है?

Ans 1. 14 : 19

2. 14 : 15

3. 14 : 17

4. 15 : 14

Question ID : 264330105740

Status : Answered

Chosen Option : 2

Q.23 0.5, 20 का िकतना Ůितशत है?

Ans 1. 25%

2. 2.5%

3. 0.025%

4. 0.25%

Question ID : 26433075142

Status : Answered

Chosen Option : 2

Q.24 राम और रमेश की वतŊमान आयु का अनुपात 3 : 5 है। 7 वषŊ बाद उनकी आयु का अनुपात 4 : 5 होगा।
रमेश की वतŊमान आयु ǒात कीिजए।

Ans 1. 12 वषŊ

2. 7 वषŊ

3. 15 वषŊ

4. 5 वषŊ

Question ID : 26433064984

Status : Answered

Chosen Option : 2



Q.25 यिद sec 2θ = cosec (θ – 36°) है, जहां 2θ एक ̢यून कोण है, तो θ का मान ǒात कीिजए।
Ans 1. 46°

2. 20°

3. 32° 

4. 42°

Question ID : 26433092176

Status : Answered

Chosen Option : 4

Q.1 Choose the incorrectly spelt word.

Ans 1. Governance

2. Enforcement

3. Insufficient

4. Innocense

Question ID : 264330104754

Status : Answered

Chosen Option : 3

Q.2 Select the option that can be used as a one-word substitute for the given group of
words.

A person having significant experience in an occupation

Ans 1. Fastidious

2. Veteran  

3. Novice

4.  Agnostic

Question ID : 26433071762

Status : Answered

Chosen Option : 2

Q.3 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

I had walked / for most of the day / to Kanpur and then / get on the train by Mumbai.

Ans 1. for most of the day

2. to Kanpur and then  

3. get on the train by Mumbai

4. I had walked 

Question ID : 26433088155

Status : Answered

Chosen Option : 1

Q.4 Select the correct indirect form of the given sentence.
Priya assured me, “I can stay in tonight.”

Ans 1. Priya told me that she could stay in that night.

2. Priya told me that she could stay in tonight.

3. Priya told me that she could stay in this night.

4. Priya told me that she can stay in that night.

Question ID : 264330104600

Status : Answered

Chosen Option : 1

Section : English Comprehension



Q.5 Select the INCORRECTLY spelt word.

Ans 1. Striphe

2. Fright

3. Delight

4. Knight 

Question ID : 26433065135

Status : Answered

Chosen Option : 1

Q.6 Select the most appropriate meaning of the underlined idiom in the given sentence.
“Just add a bit of cheese to your pasta and Bob’s your uncle!” Reena suggested to me
over dinner last night.

Ans 1. It ruins everything

2. It becomes easily and quickly achievable

3. It changes nothing

4. It changes the appearance

Question ID : 26433061579

Status : Answered

Chosen Option : 4

Q.7 Rearrange the parts of the sentence in correct order.
Jobseekers are not
P. being unemployed are a test of faith
Q. self-purification, where the difficulties of
R. relentlessly to a pilgrimage of
S. fatalistic but reapply themselves

Ans 1. PQSR

2. SRQP

3. SPQR

4. RPSQ

Question ID : 264330104692

Status : Answered

Chosen Option : 1

Q.8 Select the most appropriate meaning of the underlined idiom in the given sentence.

When the District Attorney asked the convict about details of the day of the crime, he
started beating about the bush.

Ans 1. Trying to invoke sympathy

2. Accusing others of the crime 

3. Speaking in a confusing manner without giving a correct answer 

4. Being excessively aggressive

Question ID : 26433072084

Status : Answered

Chosen Option : 3



Q.9 The question below consists of a set of labeled sentences. Out of the four options
given, select the most logical order of the sentences to form a coherent paragraph.
P. He is well aware of the role he and his people play in keeping Shivsagar Lake as
beautiful and ecologically thriving.
Q. However, he is also deeply aware of the fact that the urban idea of conservation
often seeks to keep traditional dwellers out.
R. Jason, 45, has a quiet, confident presence.
S. He takes a long time to open up and even after that, he speaks little.

Ans 1. PRSQ

2. RSPQ

3. RQPS

4. PSQR

Question ID : 264330104703

Status : Answered

Chosen Option : 2

Q.10 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

Have you want me to come with you to the dentist?

Ans 1. Had you want me 

2. Do you want me

3. Has you wanted me 

4. No substitution required

Question ID : 26433088437

Status : Answered

Chosen Option : 2

Q.11 Select the most appropriate synonym of the given word.
Perseverance

Ans 1. Steadfastness

2. Tolerance

3. Discipline

4. Humbleness

Question ID : 26433070617

Status : Answered

Chosen Option : 1

Q.12 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

Don’t disturb the boy, he prepares for his examination.

Ans 1. prepared 

2.  will be preparing

3. was preparing

4. is preparing 

Question ID : 26433073844

Status : Answered

Chosen Option : 4



Q.13 Select the option that expresses the given sentence in active voice.

I was fascinated by the movie.

Ans 1. The movie fascinated me.

2. The movie was fascinated to me.

3. The movie fascinate me.

4. The movie fascinates me.

Question ID : 26433088306

Status : Answered

Chosen Option : 1

Q.14 Select the option that expresses the given sentence in passive voice.

The first-year students are bidding farewell to their seniors.

Ans 1. Farewell is being bid to their seniors by the first-year students. 

2. Farewell is to be bid to their seniors by the first-year students.  

3. Their seniors is being bid farewell by the first-year students.  

4. Farewell was being bid to their seniors by the first-year students.  

Question ID : 26433094169

Status : Answered

Chosen Option : 3

Q.15 Select the most appropriate option to complete the given sentence.
He booked the tickets for the show _____.

Ans 1. in advance

2. in common

3. in depth

4. in demand

Question ID : 26433084709

Status : Answered

Chosen Option : 1

Q.16 Select the most appropriate option to fill in the blank and complete the collocation.

Although she didn't reveal her plans clearly, I had a ________ idea.

Ans 1. rough

2. clear

3. concise

4. complete

Question ID : 26433073570

Status : Answered

Chosen Option : 2

Q.17 Select the most appropriate ANTONYM of the given word.

Consent

Ans 1. Sanction  

2. Dissent  

3. Variety  

4. Integrity

Question ID : 26433071782

Status : Answered

Chosen Option : 4



Q.18 Parts of the following sentence have been given as options. Select the option that
contains a grammatical error.

The jury was not happy with the performance / and was quite harsh. / The singer took /
their criticism in heart.

Ans 1. The jury was not happy with the performance 

2.  and was quite harsh.

3. The singer took

4. their criticism in heart.

Question ID : 26433073829

Status : Answered

Chosen Option : 4

Q.19 Identify the most appropriate ANTONYM of the underlined word in the given sentence.
The patient was happy that he was given ancient methods of treatment to cure her
health condition.

Ans 1. Multiple

2. Modern

3. Primitive

4. Slow

Question ID : 26433060409

Status : Answered

Chosen Option : 2

Q.20 Select the most appropriate ANTONYM of the given word.
Native

Ans 1. Vicinity  

2. Foreign  

3. Aboriginal  

4. Realm  

Question ID : 26433059715

Status : Answered

Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Four of the most popular forms i.e. Facebook, Twitter, Snapchat and Instagram of social
media (1)________ great damage upon young people’s mental health. These four platforms
have a negative effect because they can (2) ________ children’s and young people’s body
image worries, and worsen bullying, sleep problems, anxiety, depression and loneliness. The
findings follow growing (3) _________ among politicians, health bodies, doctors and parents
about young people suffering harm as a result of cyber bullying and social media
(4)_________ feelings of self-loathing and leading them to commit suicide. However, the
leader of the UK’s psychiatrists said these findings were too simplistic and they (5)________
blamed social media for the complex reasons why the mental health of so many young people
is suffering.

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank number 1.

Ans 1. discrete 

2. impious

3. perpetrating 

4. inflict 

Question ID : 26433084835

Status : Answered

Chosen Option : 4



Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Four of the most popular forms i.e. Facebook, Twitter, Snapchat and Instagram of social
media (1)________ great damage upon young people’s mental health. These four platforms
have a negative effect because they can (2) ________ children’s and young people’s body
image worries, and worsen bullying, sleep problems, anxiety, depression and loneliness. The
findings follow growing (3) _________ among politicians, health bodies, doctors and parents
about young people suffering harm as a result of cyber bullying and social media
(4)_________ feelings of self-loathing and leading them to commit suicide. However, the
leader of the UK’s psychiatrists said these findings were too simplistic and they (5)________
blamed social media for the complex reasons why the mental health of so many young people
is suffering.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank number 2.

Ans 1. mitigate 

2. effectuate

3. exacerbate 

4. alleviate

Question ID : 26433084836

Status : Answered

Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Four of the most popular forms i.e. Facebook, Twitter, Snapchat and Instagram of social
media (1)________ great damage upon young people’s mental health. These four platforms
have a negative effect because they can (2) ________ children’s and young people’s body
image worries, and worsen bullying, sleep problems, anxiety, depression and loneliness. The
findings follow growing (3) _________ among politicians, health bodies, doctors and parents
about young people suffering harm as a result of cyber bullying and social media
(4)_________ feelings of self-loathing and leading them to commit suicide. However, the
leader of the UK’s psychiatrists said these findings were too simplistic and they (5)________
blamed social media for the complex reasons why the mental health of so many young people
is suffering.

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank number 3.

Ans 1. bridle 

2. concern 

3. consternate 

4. poise 

Question ID : 26433084837

Status : Answered

Chosen Option : 2



Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Four of the most popular forms i.e. Facebook, Twitter, Snapchat and Instagram of social
media (1)________ great damage upon young people’s mental health. These four platforms
have a negative effect because they can (2) ________ children’s and young people’s body
image worries, and worsen bullying, sleep problems, anxiety, depression and loneliness. The
findings follow growing (3) _________ among politicians, health bodies, doctors and parents
about young people suffering harm as a result of cyber bullying and social media
(4)_________ feelings of self-loathing and leading them to commit suicide. However, the
leader of the UK’s psychiatrists said these findings were too simplistic and they (5)________
blamed social media for the complex reasons why the mental health of so many young people
is suffering.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank number 4.

Ans 1. accentuate

2. augment

3. ebbing

4. reinforcing

Question ID : 26433084838

Status : Answered

Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Four of the most popular forms i.e. Facebook, Twitter, Snapchat and Instagram of social
media (1)________ great damage upon young people’s mental health. These four platforms
have a negative effect because they can (2) ________ children’s and young people’s body
image worries, and worsen bullying, sleep problems, anxiety, depression and loneliness. The
findings follow growing (3) _________ among politicians, health bodies, doctors and parents
about young people suffering harm as a result of cyber bullying and social media
(4)_________ feelings of self-loathing and leading them to commit suicide. However, the
leader of the UK’s psychiatrists said these findings were too simplistic and they (5)________
blamed social media for the complex reasons why the mental health of so many young people
is suffering.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank number 5.

Ans 1. outlandish 

2. impartially

3. unfairly 

4. legitimately 

Question ID : 26433084839

Status : Answered

Chosen Option : 3


